AB Calculus
Chapter 6 Review

If the second derivative of fis givenby f"(x) =2x—cos x, which of the following could be f(x)?
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5) A particle with velocity at any time ¢ given by v(f) = ¢' moves in a straight line. How far does the V948 %
particle move from ¢ =0 to =27 AD D
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meters did the particle travel from =0 to £ =4?
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The velocity of a particle moving on a line at time ¢ is v = 3¢2 +5¢2 meters per second. How many
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which of the following could be the graph of y = f(x)?
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If a trapezoidal sum overapproximates Jo f(x) dx, and a right Riemann Sum underapproximates .[o f(x)dx,
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If the definite integral Io e~ dx is first approximated by using two inscribed rectangles of eq 3 Cale

width and then approximated by using the trapezoidal rule with n =2, the difference between the

two approximations is
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The velecity, in ft/sec, of a particle moving along the x-axis is given by the function v(t) = ¢' + fe'. What is the
average velocity of the particle fromtime ¢t = O totime ¢ = 37

(A) 20.086 ft/sec >
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(D) 40.671 ft/sec

(E) 79.342 fi/sec
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\0) What is the average value of y = e on the closed interval [-1, 3]1?
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The function f is continuous on the closed interval [2,8] and has values that are given in the table

above. Using the subintervals [2,5], [5,7], and [7,8], what is the trapezoidal approximation of
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3) Let f and g have continuous first and second derivatives everywhere. If f(x) < g(x) for all real

x, which of the following must be true? oes 4B 38
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Solutions

L Find the following integrals.
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Riemann Sum Extra Practice

The rate that people are entering a local office is given below in people/hour. Use the table

to answer questions 1-3.

2 1 3

Time (hours) 0
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r‘(t) ppl/hr 12 7 3

1. Usealeft Riemann sum with 4 subintervals to approximate the total number of
people entering the office over the interval 0<t<7,

(1) + 2D+ '3+ 3

= 12 414 4+ 3 405
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2. Use aright Riemann sum with 4 subintervals to approximate the total number of
people entering the office over the interval 0<t<7.

() + 2(D) + (3D + 2

=7 +6 as 42y

= 42

3. Use a trapezoidal approximation with 4 subintervals to approximate the total
number of people entering the office over the interval 0<t<7,

< (12 +7) + = (7+3)'+—';(5+53+ %(5+8>
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Gasoline is being pumped into a car. The rate that the gas is being pumped is given in the
table below at selected times (seconds). Use the table to answer questions 4-6.

Time (sec) 0 4 8 12 16 20 24
g’ (t) gal/sec 0 34 42 .56 45 34 22
~ T A
A \dpuﬂd' o alevals Eupaq E&, \Ln] C\(n ,2@
4. Use aright Riemann Sum with 3 subintervals to approximate theétotal gallons of

gasoline pumped in the car over the 24 seconds.

8(0. 44 ? (0.45) + 3 (0. 22)

5. Use a midpoint Riemann Sum with 3 subintervals to approximate the total gallons of
gasoline pumped in the car over the 24 seconds.

3(0.2) + 8 (0.50 + 8 (0.3H)

= 92

6. Use a left Riemann Sum approximation with 3 subintervals to approximate the total
gallons of gasoline pumped in the car over the 24 seconds.

B)o + 0.42 « 6.4

= L.90
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Graph of h

5 o
a2 N T T T T
Y4 | AN | 1]
3| || LN T !
1 3 I | | -\\; 1

o W LN |

jii) ID h(x)dx _? Lt NG T
sl L1 T T ™
0123456783910

iv) [ h(xde

v) I:oh(x)d'x

vi) [*hixdx

5 \o S

lo =
Shiiax S o § hdex § nGdax
b S o) o






